= Aitstefet,
527X 4+527x6

> E.

> ®g: 527

(£4)=5.27 x (4 + 6) = 5.27 x 10 = 52.7




e
__ —
— =
— ~ o _
! | I —
X B ~— _
| | _ e 1)
IS < = 5 S 3
= I N _ T S “ +
+ - [ S o =T & S
P T o3
[} /_\ — \A.hdl | rlﬂ ._.“T\_n/u HX_
O_L .| + | a1 ~— \nM_IVA(X ._.\I/\I/
ﬂ/uA — ~ ~— % o _\./X\./\n/n%A_x
D T 311
% T8 s §F 2 +t Ll L TTY
1r__w lT | | | | \l/._.(._. (\./\./
le] N > ~— > = l_l +22
— < iE NS = I
§ D e ol g
" /V.A\ 5 F M_ \9_4 nvm(_\hx(_\(_\__ Tl
_ _ S—
oo X 11 SS5s e
F o0 0 0@




el
rlo 4

a, bol Wstd a>0, b <0, a<-bd o, bz F F57}

i

D axb

@

S Q

@a-

®b-a ®ath

a—-b>0




= 44 9ol = H A, B

A ¢ B
*POH AgE2 : 12 UE -3 ° "
Aol 4 ¢ A W ¢ 7h ek 5 75
1 1 5 14
® -1 ® 5 ® -3 @§ ® =

AStBet A 4-(-3)=7
AS’JrCS’JrPJﬂﬂ:?xg:M




®a>0,b=0 @ a>0,b>0 @a>0,b<0

@ a<0,b>0 ® a<0,b<0

g<O°]E§a>0,b<0°]7114'a<0,b>0
(-1 xb>00A4 -b>0,b<0
S b<0,a>0




